
Wall Mount Installation Instructions:

7

8

9

10

11

12

1

2

3

4

5

6

Remove parts and hardware 
from packaging.

On the back of the Airocide unit, 
remove the 4 plugs by pressing 
down on the exposed edge closest 
to the middle of the unit and then 
li�ing the plug off by pulling on 
the outer exposed edge. Remove 
all four plugs and save.

Using a #2 Phillips head screwdriver, 
tighten the Shoulder Bolts into the 
bolt holes which were below the plugs. 

Identify the location on the wall in 
which you would like to hang the 
Airocide unit.  The unit may be hung 
vertically or horizontally.  For 
illustrative purposes, a vertical 
installation is shown here.  Choose a 
location that allows for access to an 
electrical outlet for the power cord.  

Using the template, level and stud finder, identify the points at 
which to drill.  When using the stud finder, locate a hollow point 
in the wall for each Toggle Anchor.  Using a pen or pencil, push 
through the template at the indicated marking point.  You will 
only need to drill two holes for the wall mount system, 
regardless of which orientation you choose.

Continue to hold the ends of 
the straps so the metal channel 
rests flat against the wall.  With 
your other hand, ratchet the 
cap towards the hole along the 
straps until the flange of the 
cap is flush with the wall.

Hold ends of straps together 
between thumb and forefinger 
and pull towards you until the 
metal channel rests flat against 
the backside of the wall. 

Place thumb between the straps at 
the wall. Push thumb side to side, 
snapping off the straps level with 
the flange of the cap.

Using your #2 Phillips head 
screwdriver, screw the wall clips 
into the Toggler’s metal channel 
with the M5 screws. Tighten the 
wall clips flush against the wall. 

Place the Wall Bumpers on the 
Shoulder Bolts that will not be 
hanging from the wall clips. The 
Wall Bumpers are designed to be 
held in place by a friction-fit.

Hang the Airocide unit in the 
orientation you desire onto the Wall 
clips and rest the Wall Bumpers 
against the wall.

Remove the template from the wall and 
using your Power Drill with ½” Drill Bit, 
drill at your identified marks. 
 

Slide the Toggler Anchor through 
the ½” hole by holding the metal 
channel flat alongside the plastic 
strap and then slide the metal 
channel through the hole.

Plug in the power cord, push in 
the power button and enjoy the 
Clear Air Revolution!



Tools required:  
1. Phillips head screwdriver (#2 drive)
2. Stud Finder
3. Power Drill with ½” drill bit
4. Template
5. Level

Parts Inventory:
1. Shoulder Bolt (4)
2. Toggler Wall Anchor (2)
3. Wall Clip (2)
4. M5 Screws (2)
5. Wall Bumper (2)

Wall Mount
Installation Instructions

Better Air. Better Life.™

®

www.airocide.com

Shoulder Bolt (4) Toggle Wall
Anchor (2)

Wall Clip (2)

M5 Screws (2) Wall Bumper (2)


